TO VALIDATE, GO TO Certificate Number: GI-COO-47066-665a00f131bc9 **VERIFY.FTGS.US** Date: May 31, 2024

Forwarding Agent

N/A

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **QINGDAO** CA USA **Export Date Exporting Carrier** N/A 2024-05-20 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 410208821 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110

Buyer (Importer)

China

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1479 bales Total: 623.364 MT

Owner or Agent

N/A



escription May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
falfa Hay	22.045 mt	United States
arks: TEMU6136197 52bales		
falfa Hay	21.455 mt	United States
arks: EISU9175967 51bales		
falfa Hay	21.364 mt	United States
arks: EGHU9392498 50bales		
falfa Hay	21.02 mt	United States
arks: EGHU8330038 50bales		
falfa Hay	21.21 mt	United States
arks: TXGU6564602 49bales		
falfa Hay	21.355 mt	United States
arks: EISU8538836 51bales	MM	DAY XXX
falfa Hay	21.827 mt	United States
arks: TEMU7150369 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-47066-665a00f131bc9 **VERIFY.FTGS.US** Date: May 31, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **QINGDAO** CA USA **Export Date Exporting Carrier** N/A 2024-05-20 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 410208821 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1479 bales Total: 623.364 MT



May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Ifalfa Hay	22.634 mt	United States	
arks: CAAU5222226 52bales			
Ifalfa Hay	20.965 mt	United States	
arks: EMCU8360504 50bales			
Ifalfa Hay	20.983 mt	United States	
arks: EITU1533728 48bales			
Ifalfa Hay	21.201 mt	United States	
arks: GAOU6323845 50bales			
Ifalfa Hay	22.072 mt	United States	
arks: EITU1348669 52bales			
Ifalfa Hay	21.174 mt	United States	
arks: EITU1420151 50bales			
Ifalfa Hay	22.253 mt	United States	
arks: EGHU9632710 51bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-47066-665a00f131bc9 **VERIFY.FTGS.US** Date: May 31, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA USA	China	QINGDAO
Consignee	Export Date 2024-05-20	Exporting Carrier N/A
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Livinia District Liabhat, Inner Mongolia 040440	Import Permit Number N/A	Bill of Lading / AWB 410208821
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1479 bales Total: 623.364 MT



escription May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
falfa Hay	20.793 mt	United States	
arks: TGBU4028399 52bales			
falfa Hay	22.262 mt	United States	
arks: DRYU9798091 52bales			
falfa Hay	21.491 mt	United States	
arks: EGHU9154397 50bales			
falfa Hay	21.89 mt	United States	
arks: EITU1857619 52bales			
falfa Hay	20.702 mt	United States	
arks: TGHU6663651 50bales			
falfa Hay	21.809 mt	United States	
arks: TCKU6017423 52bales			
falfa Hay	21.31 mt	United States	
arks: HMCU9197457 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-47066-665a00f131bc9

VERIFY.FTGS.US Date: May 31, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA USA	China	QINGDAO
Consignee	Export Date 2024-05-20	Exporting Carrier N/A
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Import Permit Number N/A	Bill of Lading / AWB 410208821
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1479 bales Total: 623.364 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	20.956 mt	United States	
Marks: TGCU5164705 51bales			
Alfalfa Hay	21.147 mt	United States	
Marks: TCNU1655230 51bales			
Alfalfa Hay	21.618 mt	United States	
Marks: BMOU5109167 52bales			
Alfalfa Hay	21.156 mt	United States	
Marks: EGHU9187723 50bales			
Alfalfa Hay	21.981 mt	United States	
Marks: OCGU8003883 52bales			
Alfalfa Hay	21.763 mt	United States	
Marks: TEMU6313749 52bales		XXXXX	
Alfalfa Hay	21.437 mt	United States	
Marks: EITU9448617 51bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: GI-COO-47066-665a00f131bc9

VERIFY.FTGS.US Date: May 31, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **QINGDAO** CA USA **Export Date Exporting Carrier** N/A 2024-05-20 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 410208821 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1479 bales Total: 623.364 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	21.491 mt	United States
Marks: TGBU7877147 52bales		
======================================	=====	
	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
	//////////////////////////////////////	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

COMMERCIAL INVOICE

Invoice No.

SD-202405007

Date:

5/5/24

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

EVER LOADING

Contract No.:

SDHT-HGLC2024-3

Voyage No.: 1114-070W

Booking No.:

410208821

Shipping Line: Port of Loading:

Vessel:

Evergreen LOS ANGELES, CA Country of Origin: USA

Discharge: QINGDAO, China

ETD: 5/18/24
Price Terms: CIF

ETA: 6/12/24

Container No.	Seal#	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU5109167	A1574612	Alfalfa Supremi	52	21.618	\$417.00	\$9,014.71
CAAU5222226	A1574571	Alfalfa Supremi	52	22.634	\$417.00	\$9,438.38
DRYU9798091	A1574720	Alfalfa Supremi	52	22.262	\$417.00	\$9,283.25
EGHU8330038	389718	Alfalfa Supremi	50	21.020	\$417.00	\$8,765.34
EGHU9154397	A1574713	Alfalfa Supremi	50	21.491	\$417.00	\$8,961.75
EGHU9187723	A1574663	Alfalfa Supremi	50	21.156	\$417.00	\$8,822.05
EGHU9392498	389784	Alfalfa Supremi	50	21.364	\$417.00	\$8,908.79
EGHU9632710	A1574525	Alfalfa Supremi	51	22.253	\$417.00	\$9,279.50
EISU8538836	A1574573	Alfalfa Supremi	51	21.355	\$417.00	\$8,905.03
EISU9175967	A1574622	Alfalfa Supremi	51	21.455	\$417.00	\$8,946.73
EITU1348669	A1574527	Alfalfa Supremi	52	22.072	\$417.00	\$9,204.02
EITU1420151	A1574526	Alfalfa Supremi	50	21.174	\$417.00	\$8,829.56
EITU1533728	A1574530	Alfalfa Supremi	48	20.983	\$417.00	\$8,749.91
EITU1857619	A1574712	Alfalfa Supremi	52	21.890	\$417.00	\$9,128.13
EITU9448617	A1574615	Alfalfa Supremi	51	21.437	\$417.00	\$8,939.23
EMCU8360504	A1574529	Alfalfa Supremi	50	20.965	\$417.00	\$8,742.41
GAOU6323845	A1574528	Alfalfa Supremi	50	21.201	\$417.00	\$8,840.82
HMCU9197457	A1574667	Alfalfa Supremi	52	21.310	\$417.00	\$8,886.27
OCGU8003883	A1574662	Alfalfa Supremi	52	21.981	\$417.00	\$9,166.08
TCKU6017423	A1574669	Alfalfa Supremi	52	21.809	\$417.00	\$9,094.35
TCNU1655230	A1574664	Alfalfa Supremi	51	21.147	\$417.00	\$8,818.30
TEMU6136197	A1574624	Alfalfa Supremi	52	22.045	\$417.00	\$9,192.77
TEMU6313749	A1574616	Alfalfa Supremi	52	21.763	\$417.00	\$9,075.17
TEMU7150369	A1574572	Alfalfa Supremi	52	21.827	\$417.00	\$9,101.86
TGBU4028399	A1574524	Alfalfa Supremi	52	20.793	\$417.00	\$8,670.68
TGBU7877147	A1574614	Alfalfa Supremi	52	21.491	\$417.00	\$8,961.75
TGCU5164705	A1574665	Alfalfa Supremi	51	20.956	\$417.00	\$8,738.65
TGHU6663651	A1574711	Alfalfa Supremi	50	20.702	\$417.00	\$8,632.73
TXGU6564602	A1574575	Alfalfa Supremi	49	21.210	\$417.00	\$8,844.57
Total Value:	•		1,479	623.364		\$259,942.79

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

 ${\tt PACKING:FITFOR\ OCEAN\ TRANSPORTATION\ AND\ NON\ WOOD\ PACKAGING, EACH\ BALE\ IS\ APPROX.\ 420-460KG}$



